# Efficient analytical method for the solution of some fractional -order nonlinear differential equations 

Maad Gatea Mousa, Huda Omran Altaie*<br>Department of Mathematics, College of Education For Pure Sciences, Ibn Al-Haitham, University of Baghdad, Iraq

(Communicated by Ehsan Kozegar)


#### Abstract

A novel technique called the Variational Adomian decomposition method (VIADM) is used to approximate an analytical solution for several types of non-linear fractional differential equations. Some examples are presented to back up our findings. The solution procedure and results indicated that the proposed method is very effective, reliable, and straightforward. The results show how effective and precise the present technology is at resolving various nonlinear problems in applied science. The MATLAB software carried out all the computations and graphics. Fractional derivatives are mentioned in Caputo Sense. Moreover, a graphical representation was made for the solution of some examples. For integer and fractional order problems, solution graphs are shown.


Keywords: Caputo operator, Approximate Solution, Partial differential equations, Adomian Decomposition Method, Fractional Calculus.
2020 MSC: 26A33, 34K37, 35R11

## 1 Introduction

Mathematical modelling of several phenomena problems refers to fractional non-linear differential equations in various areas of engineering, fluid mechanics and other applied sciences. Fractional Calculus (FC) has been applied and may be described effectively using fractional calculus mathematical techniques, in recent decades, [5, 6, 10, 11, Because at most fractional non-linear differential equations (FDEs) don't have accurate analytic solutions, the numerical and approximation techniques should be tested. Adomian decomposition (ADM) [1, 8, Variational Iteration method [3, 4, 7, 13, Homotopy perturbation (HAM) [2, 9, 14] and others are examples of modern analytic approaches The VIM and the ADM are the most obvious ways of the solutions FDEs for providing the analytic solutions, in addition, numerical-approximate solutions alone linearisation (discretization) for non-linear equations.

In this work, we will provide a novel approach of (VIADM) for the solution of (FDEs) along with the initial and boundary conditions 12 .

## 2 Variational Iteration Adomian Decomposition Method for Solving PDEs with Fractional Order

Consider the fractional differential equation as follows:

[^0]\[

$$
\begin{equation*}
{ }^{C} D_{t}^{\alpha} y(x, t)+L y(x, t)+N y(x, t)-f(x, t)=0, \tag{2.1}
\end{equation*}
$$

\]

where, ${ }^{C} D_{t}^{\alpha}$ means the Caputo Fractional order derivative, $N, L$ are the Nonlinear terms and linear differential Operator respectively, and $f$ refers the source term.

Therefore, the construct correction functional using VIM for Eq. (2.1) is provided by:

$$
\begin{equation*}
y_{n+1}(x, t)=y_{n}(x, t)+\int_{0}^{t} \lambda(x, s)\left[{ }^{C} D_{t}^{\alpha} y_{n}(x, s)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right] d s \tag{2.2}
\end{equation*}
$$

where, $\tilde{y}(x, t)$ is a restricted variation. To solve Eq. 2.2) by VIM, $\lambda$ (Lagrange Multiplier)is determined via integration by parts. To choose $y_{0}$ may be selected by a function which satisfies the initial and boundary conditions. Then the related Variational Iteration formula is given by:

$$
\begin{equation*}
y_{n+1}(x, t)=y_{n}(x, t)+J_{t}^{\alpha}\left[\lambda(x, s)\left[{ }^{C} D_{t}^{\alpha}\left(y_{n}(x, s)\right)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right]\right] . \tag{2.3}
\end{equation*}
$$

The continuous functions $y(x, s)$ and $f(x, s)$ and $m-1<\alpha \leq m$. In the Caputo Sense, $\alpha$ means a parameter explaining the order of the fractional derivative and $J_{t}^{\alpha}$ means Riemann-Liouvile integral operator of fractional order $\alpha=1+\beta-m$. Then, Eq. (2.3) becomes:

$$
\begin{gather*}
y_{n+1}(x, t)=y_{n}(x, t)+\frac{1}{\Gamma(\alpha)} \int_{0}^{t}(t-s)^{\alpha-1} \lambda(x, s)\left[\frac{\partial^{\beta}}{\partial t^{\beta}} y_{n}(x, s)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right] d s \\
0<\beta \leq 1 \tag{2.4}
\end{gather*}
$$

by approximate ${ }^{C} D_{t}^{\alpha} y$ by $\left(\frac{\partial^{\beta}}{\partial t^{\beta}} y\right)$. To find $\lambda(x, s)$, suppose $\alpha=1, \beta=m$, the correction functional of Eq. (2.4) may be written as follows approximately:

$$
y_{n+1}(x, t)=y_{n}(x, t)+\int_{0}^{t} \lambda(x, s)\left[L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)+\frac{\partial^{m}}{\partial t^{m}} y_{n}(x, s)\right] d s
$$

where, $y_{n}$ is considered as a restricted variation, and $\delta \tilde{y}_{n}=0$

$$
\begin{equation*}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\delta \int_{0}^{t} \lambda(x, s)\left[\frac{\partial^{m}}{\partial t^{m}} y_{n}(x, s)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right] d s \tag{2.5}
\end{equation*}
$$

Then, consequently Eq. 2.5 with $m=1$ will be reduced to:

$$
\begin{equation*}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\delta \int_{0}^{t} \lambda(x, s)\left(\frac{\partial}{\partial t} y_{n}(x, s)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right) d s \tag{2.6}
\end{equation*}
$$

By using the method of integration by parts on Eq. 2.6 will give the following formula:

$$
\delta y_{n+1}(x, t)=\delta y_{n}+\left.\lambda((x, s)) \delta y_{n}\right|_{s=t}+\int_{0}^{t} \lambda^{\prime}(x, s) \delta y_{n} d s
$$

and then

$$
\delta y_{n+1}=(1+\lambda(x, s)) \delta y_{n}+\int_{0}^{t} \lambda^{\prime}(x, s) \delta y_{n}(x, s) d s=0
$$

As a result, the stationary conditions are obtained:

$$
\lambda^{\prime}(x, s)=0 \text { and } 1+\left.\lambda(x, s)\right|_{s=t}=0
$$

Thus, the general Lagrange multiplier may be defined as $\lambda(x, s)=-1$.
So, the following iteration formula for Eq. 2.2 is obtained by:

$$
y_{n+1}(x, t)=y_{n}(x, t)-J_{t}^{\alpha}\left[\frac{\partial}{\partial t} y_{n}(x, s)+L y_{n}(x, s)+N y_{n}(x, s)-f(x, s)\right]
$$

Now, for $m=2$, after substituting the value of $m$, we get:

$$
\alpha=\beta-1, \beta=m \quad 1<\alpha \leq 2
$$

The Eq. 2.3 becomes:

$$
\begin{equation*}
y_{n+1}(x, t)=y_{n}(x, t)+\frac{1}{\Gamma(\beta-1)} \int_{0}^{t}(t-s)^{\beta-2} \lambda(x, s)\left[\frac{\partial^{m}}{\partial t^{m}} y_{s}(x, s)+L\left(\tilde{y}_{n}(x, s)\right)+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right] d s \tag{2.7}
\end{equation*}
$$

By taking the first variation of Eq. 2.7 with respect to $y_{n}$ and taking thus $\delta y_{n}=0$ and $\delta y_{n}^{\prime}=0$, yields to:

$$
\begin{aligned}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\delta\left\{\frac { 1 } { \Gamma ( \beta - 1 ) } \int _ { 0 } ^ { t } ( t - s ) ^ { \beta - 2 } \lambda ( x , s ) \left[\frac{\partial^{m}}{\partial t^{m}} y_{n}(x, s)\right.\right. & +L\left(\tilde{y}_{n}(x, s)\right) \\
& \left.\left.+N\left(\tilde{y}_{n}(x, s)\right)-f(x, s)\right] d s\right\}
\end{aligned}
$$

where, $y_{n}$ is considered as a restricted variation and hence:

$$
\begin{equation*}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\frac{1}{\Gamma(\beta-1)} \int_{0}^{t}(t-s)^{\beta-2} \lambda(t, s) \delta\left(\frac{\partial^{2}}{\partial t^{2}} y_{n}(t, s)\right) d s \tag{2.8}
\end{equation*}
$$

Carrying the integration by parts twice, then Eq. 2.8 will be:

$$
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\left.\lambda(t, s) \delta y_{n}^{\prime}(t, s)\right|_{0} ^{t}-\left.\lambda^{\prime} \delta y_{n}(t, s)\right|_{0} ^{t}+\int_{0}^{t} \lambda^{\prime \prime}(t, s) \delta y_{n}(t, s) d s
$$

and

$$
\delta y_{n+1}(x, t)=\left.\left(1-\lambda^{\prime}\right) \delta y_{n}(t, s)\right|_{t=s}+\left.\lambda \delta y_{n}^{\prime}(t, s)\right|_{t=s}+\int_{0}^{t} \lambda^{\prime \prime}(t, s) \delta y_{n}(t, s) d s
$$

Since $\delta y_{n}$ is arbitrary, and from the theory of Calculus of variation, and the following Euler equation is obtained:

$$
\begin{equation*}
\lambda^{\prime \prime}(t, s)=0 \tag{2.9}
\end{equation*}
$$

with the stationary conditions:

$$
\begin{equation*}
1-\left.\lambda^{\prime}(t, s)\right|_{t=s}=0,\left.\quad \lambda(t, s)\right|_{t=s}=0 \tag{2.10}
\end{equation*}
$$

Solving Eqs. 2.9-2.10, will give the following solution:

$$
\lambda(t, s)=s-t
$$

So, the following iteration formula (the correction functional for Eq. 2.7 will reads as follows:

$$
\begin{equation*}
y_{n+1}(x, t)=y_{n}(x, t)+\frac{1}{\Gamma(\beta-1)} \int_{0}^{t}(t-s)^{\beta-2}(s-t)\left[\frac{\partial^{\beta}}{\partial t^{\beta}} y_{n}(x, s)+L\left(y_{n}(x, s)\right)+N\left(y_{n}(x, s)\right)-f(x, s)\right] d s \tag{2.11}
\end{equation*}
$$

Thus,

$$
y_{n+1}(x, t)=y_{n}(x, t)+\frac{\beta-1}{\Gamma(\beta)} \int_{0}^{t}(t-s)^{\beta-1}(s-t)\left[\frac{\partial^{\beta}}{\partial t^{\beta}} y_{n}(x, s)+L\left(y_{n}(x, s)\right)+N\left(y_{n}(x, s)\right)-f(x, s)\right] d s
$$

So, the following iteration formula becomes:

$$
y_{n+1}(x, t)=y_{n}(x, t)-(\beta-1) J_{t}^{\alpha}\left[\frac{\partial^{\beta}}{\partial t^{\beta}} y_{n}(x, s)+L\left(y_{n}(x, s)\right)+N\left(y_{n}(x, s)\right)-f(x, s)\right]
$$

## 3 Applications and Results

In this part, certain numerical examples will be investigated in order to verify the accuracy for the suggested approach given in the previous section.

Example 3.1. Consider

$$
\begin{equation*}
{ }^{C} D_{0, t}^{\alpha} y-\frac{\partial^{2} y}{\partial x^{2}}-y=0 \tag{3.1}
\end{equation*}
$$

with the initial conditions:

$$
y(x, 0)=1+\sin x, y_{t}(x, 0)=0
$$

First, the correction functional will be found by utilizing VIM to get the solution of Eq. (3.1)

$$
y_{n+1}(x, t)=y_{n}(x, t)+\int_{0}^{t} \lambda(x, s)\left[\frac{\partial^{\alpha}}{\partial t^{\alpha}} y_{n}(x, s)-\frac{\partial^{2} \tilde{y}_{n}(x, s)}{\partial x^{2}}-\tilde{y}_{n}(x, s)\right] d s
$$

Taking the correction functional stationary and $\delta \tilde{y}_{n}=0$ and $\delta y_{n}^{\prime}=0$, we get:

$$
\begin{equation*}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\int_{0}^{t} \delta \lambda(x, s)\left[\frac{\partial^{\alpha}}{\partial t^{\alpha}} y_{n}(x, s)-\frac{\partial^{2} \tilde{y}_{n}(x, s)}{\partial x^{2}}-\tilde{y}_{n}(x, s)\right] d s \tag{3.2}
\end{equation*}
$$

Second, on the iteration of Eq. (3.2), apply Adomian polynomials for nonlinear terms, Eq. 3.2 becomes:

$$
\begin{equation*}
\delta y_{n+1}(x, t)=\delta y_{n}(x, t)+\int_{0}^{t} \delta \lambda(x, s)\left[\frac{\partial^{\alpha}}{\partial t^{\alpha}} y_{n}(x, s)-\frac{\partial^{2}\left(\tilde{y}_{n}(x, s)\right)}{\partial x^{2}}-\sum_{i=0}^{\infty} A_{i}\right] d s \tag{3.3}
\end{equation*}
$$

where, $\sum_{i=0}^{\infty} A_{i}$ represents Adomian polynomials and $y=\sum_{i=0}^{\infty} A_{i}$ to find $\lambda$, approximate $\left(\frac{\partial^{\alpha}}{\partial t^{\alpha}}\right)$ by $y^{\prime \prime}$ and using the method of integration by parts twice, then Eq. (3.3)

$$
\begin{aligned}
\delta y_{n+1}(x, t) & =\delta y_{n}(x, t)+\left.\delta \lambda y_{n}^{\prime}(x, s)\right|_{s=t}-\left.\delta \lambda^{\prime} y_{n}(x, s)\right|_{s=t}+\int_{0}^{t} \delta \lambda^{\prime \prime} y_{n}(x, s) d s=0 \\
& =\left.\left(1-\lambda^{\prime}\right)\right|_{s=t} \delta y_{n}(x, t)+\left.\lambda(x, s)\right|_{s=t} \delta y_{n}^{\prime}(t, s)+\int_{0}^{t} \lambda^{\prime \prime} \delta y_{n}(x, s) d s=0
\end{aligned}
$$

Since $\delta y_{n}$ is arbitrary, and using theory of calculus of variation, get

$$
\left.\lambda^{\prime \prime}(x, s)\right|_{s=t}=0
$$

and

$$
\left.\lambda(x, s)\right|_{s=t}=0, \quad 1-\left.\lambda^{\prime}(x, s)\right|_{s=t}=0
$$

Simplifying the equations, and solving the above equations will give the following solution $\lambda=s-t$ and can be get the variational iteration formula from Eq. (3.3) as follows:

$$
y_{n+1}(x, t)=y_{n}(x, t)+\int_{0}^{t}\left(s-t^{\alpha}\right)\left[\frac{\partial^{\alpha} y_{n}(x, s)}{\partial t^{\alpha}}-\frac{\partial^{2} y_{n}(x, s)}{\partial x^{2}}-\sum_{i=0}^{\infty} A_{i}\right] d s
$$

Start with the initial approximation:

$$
y_{0}=1+\sin x .
$$

By using Eq. (3.3), we have the following iteration formula

$$
y_{n+1}(x, t)=y_{n}(x, t)+\int_{0}^{t}(s-t) \frac{1}{\Gamma(\alpha)}(t-s)^{\alpha-1}\left[\left(\frac{\partial^{\alpha} y_{n}}{\partial t^{\alpha}}\right)-\frac{\partial^{2} y_{n}}{\partial x^{2}}-\sum_{i=0}^{\infty} A_{i}\right] d s
$$

Then

$$
\begin{aligned}
y_{1}(x, t) & =y_{0}(x, t)-\frac{(\alpha-1)}{\Gamma(\alpha)} \int_{0}^{t}(t-s)^{\alpha}\left[\left(\frac{\partial^{\alpha} y_{n}}{\partial t^{\alpha}}\right)-\frac{\partial^{2} y_{n}}{\partial x^{2}}-\sum_{i=0}^{\infty} A_{i}\right] d s \\
& =y_{0}(x, t)+\frac{t^{\alpha}}{\Gamma(\alpha+1)}\left[\left(\frac{\partial^{\alpha} y_{0}}{\partial t^{\alpha}}\right)-\frac{\partial^{2} y_{0}}{\partial x^{2}}\right] \\
& =1+\sin x+\frac{1}{\Gamma(\alpha+1)} t^{\alpha} \\
y_{2}(x, t) & =y_{1}(x, t)+\frac{t^{\alpha}}{\Gamma(\alpha+1)}\left[\left(\frac{\partial^{\alpha} y_{1}}{\partial t^{\alpha}}\right)-\frac{\partial^{2} y_{1}}{\partial x^{2}}-y_{1}\right] \\
& =\sin x+\frac{1}{\Gamma(\alpha+1)} t^{\alpha}+\frac{1}{\Gamma(2 \alpha+1)} t^{2 \alpha}+1 .
\end{aligned}
$$

Thus,

$$
y_{n+1}(x, t)=\sin x+\frac{1}{\Gamma(\alpha+1)} t^{\alpha}+\frac{1}{\Gamma(2 \alpha+1)} t^{2 \alpha}+\ldots+\frac{1}{\Gamma(n \alpha+1)} t^{n \alpha}+1
$$

To find the validity of the approximated solution, when $\alpha=2$, the exact solution is:

$$
y(x, t)=\sin x+\cosh t
$$

Therefore,

$$
y_{n+1}(x, t)=1+\sin x+\frac{t^{2}}{\Gamma(3)}+\frac{t^{4}}{\Gamma(5)}+\frac{t^{6}}{\Gamma(7)}+\ldots=\sin x\left(1+\frac{t^{2}}{2!}+\frac{t^{4}}{4!}+\frac{t^{6}}{6!}+\frac{t^{8}}{8!}+\ldots\right)=\sin x+\cosh t
$$

The following Figures show the exact and obtained results of solutions (approximate solutions) at $\alpha=1.6,1.8,2$, here we use four terms to approximate the exact solution, the proposed method VIADM has a high convergence order and higher accuracy we get. Similarly, in figures the 3D exact and obtained results are plotted at $\alpha=1.6,1.8,2$. All the exact and approximate results on the Graphs have shown are very closed and explain the reliability of the present technique.


Figure 1: Show the Exact and approximate solution for $\alpha=1.6,1.8,2$

Example 3.2. Consider the nonhomogeneous linear Klein-Gordon equation with fractional order:

$$
\begin{equation*}
\frac{\partial^{\alpha} y}{\partial t^{\alpha}}-\frac{\partial^{2} y}{\partial x^{2}}+y=x^{3} t^{3}+6 x^{3} t-6 x t^{3} \quad t>0,1<x \leq 2 \tag{3.4}
\end{equation*}
$$



Abs4 $=\mid$ yexact-y $4 \mid$ at $x=1 \& \alpha=2 \times 10^{-10}$


Figure 2: Show the 3D Absolute solution plots at $\alpha=2$


Abs4 $=\mid$ yexact-y $4 \mid$ at $x=1 \& \alpha=1.8$

$4=|y \operatorname{xact}-\mathrm{y} 4|$

Figure 3: Show the 3D Absolute solution plots at $\alpha=1.8$
with

$$
y(x, 0)=0, y_{t}(x, 0)=0
$$

According to the VIADM, to the above equation, the iteration formula for Eq. (3.4) is given by:

$$
y_{n+1}(x, t)=y_{n}(x, t)-(\alpha-1) J_{t}^{\alpha}\left[\frac{\partial^{\alpha} y}{\partial t^{\alpha}}-\frac{\partial^{2} y}{\partial x^{2}}+y-6 x^{3} t-x^{3} t^{3}+6 x t^{3}\right]
$$

and applying the Adomian polynomials to the nonlinear terms, we get:

$$
y_{n+1}(x, t)=y_{n}(x, t)-(\alpha-1) J_{t}^{\alpha}\left[\frac{\partial^{\alpha} y}{\partial t^{\alpha}}-\frac{\partial^{2} y}{\partial x^{2}}+y-\sum_{i=0}^{\infty} A_{i}-\sum_{i=0}^{\infty} B_{i}+\sum_{i=0}^{\infty} C_{i}\right],
$$

where,

$$
\begin{aligned}
& \sum_{i=0}^{\infty} A_{i}=6 x^{3} t \\
& \sum_{i=0}^{\infty} B_{i}=x^{3} t^{3} \\
& \sum_{i=0}^{\infty} C_{i}=6 x t^{3}
\end{aligned}
$$

If we begin with:

$$
y_{0}(x, t)=y_{0}(x, 0)+t y_{t}(x, 0)=0
$$

we can obtain

$$
\begin{aligned}
& y_{1}(x, t)=(\alpha-1)\left[6 x^{3} \frac{t^{1+\alpha}}{\Gamma(2+\alpha)}+x^{3} \frac{6 t^{\alpha+3}}{\Gamma(\alpha+4)}-36 x \frac{t^{\alpha+3}}{\Gamma(\alpha+4)}\right] \\
& y_{2}(x, t)=6 x^{3} \frac{t^{\alpha+1}}{\Gamma(\alpha+2)}+6 x^{3} \frac{t^{\alpha+3}}{\Gamma(\alpha+4)}-36 x \frac{t^{\alpha+3}}{\Gamma(\alpha+4)}
\end{aligned}
$$

and

$$
(\alpha-1)^{2}\left[6 x^{3} \frac{t^{2 \alpha+1}}{\Gamma(2 \alpha+2)}-36 x \frac{t^{2 \alpha+1}}{\Gamma(2 \alpha+2)}+6 x^{3} \frac{t^{2 \alpha+3}}{\Gamma(2 \alpha+4)}-72 \frac{t^{2 \alpha+3}}{\Gamma(2 \alpha+4)}\right]
$$

Then, the general solution when $\alpha=2$ is given by:

$$
y(x, t)=x^{3} t^{3}+x^{3} \frac{6 t^{5}}{\Gamma(6)}-36 \frac{x t^{5}}{\Gamma(6)}+36 \frac{x t^{5}}{\Gamma(6)}-36 x \frac{6 t^{7}}{\Gamma(8)}-6 x^{3} \frac{t^{5}}{\Gamma(6)}-6 x^{3} \frac{t^{7}}{\Gamma(8)}+36 \frac{x t^{7}}{\Gamma(8)}+\ldots
$$

By canceling some noise terms, yields the true solution of Eq. (3.4)

$$
y(x, t)=x^{3} t^{3}
$$

## 4 Conclusions

Fractional nonlinear differential equations with initial and boundary conditions are investigated analytically. Fractional derivatives are given in the Caputo Sense for every case. The solutions graphs are provided to demonstrate the best relevance of the suggested method. The graphs show that the proposed approach works well for solving problems of both integer and fractional order. To check the validity and efficiency of the available method, certain instances of the analytical solution are measured. The findings show that when the issues converge towards integer order, the accuracy of the suggested approach improves.

## References

[1] Y.O. Hasan and L.M. Zhu, Modified Adomian decomposition method for singular initial value problems in the second-order ordinary differential equations, Surv. Math. Appl. 3 (2008), 183-193.
[2] J.H. He, Variational iteration method-a kind of non-linear analytical technique: some examples, Int. J. Non-Linear Mech. 34 (1999), no. 4, 699-708.
[3] J.H. He, Variational iteration method for autonomous ordinary differential systems, Appl. Math. Comput. 114 (2000), no. 2-3, 115-123.
[4] J.H. He, Variational principles for some nonlinear partial differential equations with variable coefficients, Chaos, Solitons Fractals 19 (2004), no. 4, 847-851.
[5] R. Hilfer, Applications of fractional calculus in physics, World scientific, Singapore, 2000.
[6] H. Jafari, H.K. Jassim, F. Tchier and D. Baleanu, On the approximate solutions of local fractional differential equations with local fractional operator, Entropy 18 (2016), 1-12.
[7] H.K. Jassim and W.A. Shahab, Fractional variational iteration method to solve one-dimensional second-order hyperbolic telegraph equations, J. Phys.: Conf. Ser. 1032 (2018), no. 1, 012015.
[8] C. Jin and M. Liu, A new modification of Adomian decomposition method for solving a kind of evolution equation, Appl. Math. Comput. 169 (2005), 953-962.
[9] S. Liao, Homotopy analysis method: a new analytical technique for nonlinear problems, Commun. Nonlinear Sci. Numer. Simul. 2 (1997), no. 2, 95-100.
[10] K.B. Oldham and J. Spanier, The fractional calculus, Academic Press, New York, 1974.
[11] I. Podlubny, Fractional differential equations, Academic Press, New York, 1999.
[12] S. Sharma and A.J. Obaid, Mathematical modelling, analysis and design of fuzzy logic controller for the control of ventilation systems using MATLAB fuzzy logic toolbox, J. Interdiscip. Math. 23 (2020), no. 4, 843-849.
[13] K.J. Wang and G.D. Wang, Variational principle and approximate solution for the fractal generalized Benjamin-Bona-Mahony-Burgers equation in fluid mechanics, Fractals 29 (2020), no. 3, 2150075.
[14] A. Yildirim, Application of he's homotopy perturbation method for solving the Cauchy reaction-diffusion problem, Comp. Math. Appl. 57 (2009), 612-618.


[^0]:    * Corresponding author

    Email addresses: maadkatamosa@gmail.com (Maad Gatea Mousa), dr.huda_hm2029@yahoo.com (Huda Omran Altaie)

